EARAROBREBRT —5 XN—ZXBISH—F

2023658278 (£) 4EHEE4H

WS C2—-3% C2 USXR4E L ‘(fﬁ} 5 ‘I%EH?’JF&] - | & 100 B
[#&%] 1&:350,000 ™  2#&:112,000  3#&:63,000M . 43%&:42,000™  53&:28,000H
HEAE AR/ M e BFE (TB) |94/L (B2 | @BIEM | E3F [SIE8% | AR | #hE | 560 FiB) / B / £EWS
w .:.M/ﬂ?—l- :31. -8-5- . - THiER (£8)
1 6| FHYSA B 5 R 1(3_1)8 8-8-5-2 |38.9 2 (4_1?(3)) Fg#gﬁﬂz =}
RYVYRUIURIR B h—tYXywY +TH 8
= s 6 | &R 1:31.8 4-4-1-1 | 39.7| - 4 | 418 |LLEBA (EE)
218/9|T= 54.0 (z1) 1) |BEES
RiFAVPIYTITRY B:UIJaa—)b #HF B
= S~ )4 — 4 4 | UHERE 1:32.2 10-9-8-3 [39.1| - 5 | 483 |REMm (£H)
31772V /S0F 5%.0 Q) (1) | =BIEEA
Ri5Z B:IFZ—d—LR NI VS
S 4 | HAIBA 1:32.5 5-5-6-4 |39.9| - 3 | 440 | EENEER (5E)
4l7l8 | FUYRA12 A4S e o | mew—m
R:bwfoO0—-U— B:7HIH0-92 HREABUS
p SyR 5 | WTHBE 1:32.7 7-7-7-6 | 39.8| — 7 | 480 | FAART (£E)
E! 2| /=TWTPASUR # 5.0 (/4 “n | @ J P N
R:5TU—F4 8:FUIYUR BHUS
~, = s 5 | REES 1:33.0 2-2-3-5 | 40.9| - 6 | 439 |MHRZ (L)
6|8|10) 7YAOYT 1 5.0 a1 o |dtEAE
RIET7RAT BIAFIADY ﬁﬁﬁ::#:t EJ hU—K—RS5VF
= 4 | SAEE 1:33.5 3-3-4-7 | #1.3| — 1 460 | FEBF] (£2)
7155|729 2VU—=X + 56.0 @172 1) |YYIVEE (H)
RIAR—=KNT 7Y B:ISOVTATS P lo ==t ]
1S 3 -10-10~ - f)l|EF (k&)
8 4 ERFH 4 4 Lo 1.(3(;4).6 9-10-10-9 | 41.1 8 (4337) ﬁ%
RiFVINAO— BATUFIRI— Rl =X
9 3| PRIO-UILT 4 5 %EBE—EB 1:(345).4 1-1-2-8 [ 43.4| - 9 (4_1?(1)) g(l%ilﬁ’- (&)
RiRySAYT B:F—FTaVN—k BKBUS
=75 — # 4 | REEC 1:35.5 6-6-9-10 | 42.4| — 10 | 436 |PEHE (EH)
10011 SAT4N=F 54.0 ) L
R:O—R7)T4~Y B:FvrF«d1v+ LERS
@ 11— —&BIRfI
13—7— |3,10,5,9,8,1,2,6,4,7
20—F— 3,10,5,9,8,1,2,6,7,4
3J0—7F— |[9,3,10,5,6,8,2,7,1.4
43— — 9,6,7,8,10,2,5,3,4,1
[ BN
BB 6 3504 AR 6-9 550/ AR 6-8 1,090H4 3EE 6-7-9 3,550
BB 6 140M4 6-7 710M o 18 6-9 1,920 3iEH 6-9-7 17,1504
9 290M 7-9 9704 B H 6-9 3,610
7 260
ARBICOVTIRIUTERERRDBDZE, THEEEZETVL




